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IHI LEXEL PIT PUZZLE 11

REMR LotElEy XL 11 iR

M EET |O—5—F—VAR S M L Mm MH

AR | HMTRERE (O—S5—Fr—VAR 25 (mm) 4,700 5,050 5,300 5,050 5,050

B # T—hH2E |7 —0—ThH R =" 21 (mm) 1,700 1,850 1,950 1,850 1,850

X B o E1ETT [0.2kKWIL—FFHFT—RE-F| | FJEEE 23 (m) [ 1F 2,100 2,100 2,100 1,900 2,100

BEME | T HRE AWIL—FAFVP—RE-F| & | =7 | B 1,550 1,550 1,550 1,550 2,100

T—hFEE [0.0KkWITL—FHFT—FE- E8 (ke) 1,700 2,000 2,300 2,000 2,000

T = AC200/220V =8 50/60Hz| 2.2KW (5.0kVA) Evy k&L (m)] 5500 5,850 6,100 5,850 5,850

" | ACI00V 248 50/60Hz 1.0kW (1.0kVA) B R E B L ()] 5,200 5,550 5,800 5,550 5,550

BRIEDE FyFINRILFET s H oo EP (mm)] 2,300 2,400 2,500 2,400 2,400
28— 38 JE—HA | 4E- 7A f}z = E v b #E:W (nmm)|PxiE#+300|PxiE#1+300| Pxi2#+300|Px:E#+300|Px:Z#+300

d=vh| 5&E— 95 pE—11&a | 7#-13& =x 2| E v k& E:Hp(m)| 1,930 1,930 1,930 1,930 2,480

8E—15& iﬁjﬁ(ﬁ% =Ht Emm; 2,200 2,200 2,200 2,000 2,200

A= Fr A=A NISRUS " BEiEES :Hg(mm)| 1,800 1,800 1,800 1,800 1,800

KEARICBVWARY VA EXL TR BEWEDELLEE 0, B & = =Hkm| 3730 3730 3730 3730 4280
A/B(ke) 1,650,/3.250 | 1,800,/3,600 | 2,000,/4,000 | 1,800./3,600 | 1,800./3,600

e C/D(ke) 1,650,/3,250 | 1,800,/3,600 | 2,000,/4,000 | 1,800./3,600 | 1,800/3,600
{5 B | 1F[EH /1] () 12/12 12/12 12/12 12/12 12/12
K| Bl i&in] (B) | 12~81/12 | 12~82/12 | 12~89/12 | 12~82/12 | 12~94/12
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ITHI

LEXEL PIT PUZZLE 21

REELR Lo7EIEYRIZIL 21 TFiEER
WERE [J4V—0O0—"7AR S M L Mm MH
5 | SEEET [A-5-Fr—vHR 2K (m) 4,700 5,050 5,300 5,050 5,050
WTHE |[O—5—Fz—>FR X & £ (mm) 1,700 1,850 1,950 1,850 1,850
B & T—hFEE& |TAY—O—THR Ejﬁ“g . 2F 1,550 1,550 1,550 1,550 2,100
x B i EREE 22kWITL—FAEP—RE-5 =z ET—E 27 (mm) 1F 2,100 2,100 2,100 1,900 2,100
mappe | ELBET [0AWITL—FAFY—FE—5 B1 1,550 1,550 1,550 1,550 2,100
= MTRE [2KWIL—FHFY—RE—5 =25 (ke) 1,700 2,000 2,300 2,000 2,000
T—bFE [0.0KWIL—FFFV—RE-F Eyvy bR =L (mm)] 5,500 5,850 6,100 5,850 5,850
T R AGC200/220V =18 50/60Hz| 2.2kW (5.0kVA) kB HEER: Lt (m)] 5,200 5,550 5,800 5,550 5,550
=R IACIONV #E5060H__ [1.0KW(1.0KVA) R D P (m)] 2,300 2,400 2,500 2,400 2,400
BRIEAE Y FIRILIFER T ¥ B|IE v bk EW (mm)|PxE#+300|PxE#+300|Px:&E#+300| Px:E#k+300|PxE#5+300
2E— b& E—-8A | 4E-11B 3 E[E v kR SiHp(m)] 1,930 1,930 1,930 1,930 2,480
dzyh| b5E—-14& 6E—-178 | 7&-20& #F OT|B K = =:Ht(m)| 3,860 3,860 3,860 3,660 4,410
8 —234 $ ESESS Hg(m)| 2,630 2,630 2,630 2,430 2,630
KRRV R VI EEL TR BEVEDEC RN, gﬁéu g;iﬂ‘émg gggg gvggg 3"228 ‘3‘828 g;;g
[=] M=c- I Il Il I Il
S A/B(ke) 2,750,/5,300 | 3,000,/5,800 | 3,250,/6,300 | 3,000/5,800 | 3,000/5.800
§ C/D(ke) 2,750,/5,300 | 3,000,/5,800 | 3,250,6,300 | 3,000,/5,800 | 3,000,/5.800
2F [P /AR () | 12~92/12 | 12~93/12 [ 12~100/12 | 12~89/12 | 12~93/12
g ?Z% T[] () | 12/12 12/12 12/12 12/12 12/12
) B[t /i&#n] () | 12~87/12 | 12~88/12 | 12~93/12 | 12~86/12 | 12~94/12
LoEILEY XL 21 SERE
*SEEEOTHE EEMOTHIADET,
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ITHI

LEXEL PUZZLE 31

B4R LotEIVISXIL 31 TiER
WERE [D/vP—O0—7AR S M L Mm MH
5w |[EEET [O—5—Fr—vhH=R 25 (mm) 4,700 5,050 5,300 5,050 5,050
T IHTERE [O—>—Fz—VAzR 21 (mm) 1,700 1,850 1,950 1,850 1,850
B & T—hFE 74V—D—77jiﬁ P 3F 2,100 2,100 2,100 1,550 2,100
£ B #EFE [2.2kWTL—Ff #\V—F:E—Q AIREER £ (mn) 2F 1,550 1,550 1,550 1,550 2,100
mpy | CLBET [0MWTL-FFY—FE=5| & 7| =7 1F 2,100 2,100 2,100 1,900 2,100
= WTFRE [2.kWIL—FRFY—RE—% B1 1,550 1,550 1,550 1,550 2,100
T—hEE [0.0kWIL—F[HFT—RE-% EE{ () 1,700 2,000 2,300 2,000 2,000
AC200/220V =48 2.2kW (5.0kVA) Ey k& &L () 4,900 5,250 5,500 5,250 5,250
B w5060ty 2.4KW (6.0kVA) FER—ZAOE Lt (m) | 5,600 5,950 6,200 5,950 5,950
=oam 2.8kKW (7.0kVA) = = = B0 B:P (mm) 2,300 2,400 2,500 2,400 2,400
AC100V E18 50/60Hz _ {1.0kKW (1.0kVA) ff E E v b~ iE:W (mm) |PxE#+400 | Px:E#+400 | PxiE#+-400 | Px:&@#8+400 | Px:&E#+400
BIERE Sy FINRILIGEEA = 2| v b 3ZE & :Hp(mm) 1,920 1,920 1,920 1,920 2,470
28— 68 | 3=E—10& | 4=-14A B K & :Htmk| 6,110 6,110 6,110 5,360 6,660
I=yh 5E—18A | b6E—22& | [E—-26& i EEEEES Hom| 4,410 4,410 4,410 4,210 4,960
8E—-30& B 5 S Hkmmk| 6,330 6,330 6,330 6,130 7,430
KARICBWARY VI EF LT BRIVWEDELIZE 0, A/ B(ke) 1,700.//3,400 | 1,850,/°3,700 | 2,050,/4,100 | 1,850,//3,700 | 1,850./3,700
SO A RIS Bk HIDE S EH200MME < ED T BHE C/D(ke) 1,700,/3,400 | 1,850,/3,700 | 2,050,/4,100 | 1,850./3,700 | 1,850./3,700
E/F (kg) 1,200,/1,300 | 1,350,/1,500 | 1,500./1,700 | 1,350,/1,500 | 1,350/1,500
SF[MEH /184m] (#2) | 18~142/18 | 18~143/18 | 18~156/18 | 18~141/18 | 18~159/18
& g | 2F[MEE/#&Hm] (#) | 18~120/18 | 18~121/18 | 18~131/18 [ 18~119/18 | 18~129/18
B | P[RR /i&m] (B) | 18/18 18/18 18/18 18/18 18/18
LoEILISX)L 31 SEZ2EH BI [P /&) G9) | 18~122/18 | 18~123/18 | 18~133/18 | 18~121/18 | 18~139/18
XSEREOTEE BBEMOTEICBDET,
7.900 (EBAHEME | W-+300) (500) 5250 (Kv hES D) 680,, (120)
150 7,600 (£ hE - W) 150 5,050 (HE~—ZFDM : LD TED
(E%IE) (EEElE) 220 480 EE1
200 ||, 2400 " . 1 200 —REE3IA
E (EEALE) +15 s
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ITHI

LEXEL PUZZLE 41

R LoEIVIRXIL 41 kR
WERE [D/vP—O0—7AR S M(M8) L Mm MH
5 = T |0—5—Fz—VAR 2K (mm) 4,700 5,050 5,300 5,050 5,050
T IHTERE [O—>—Fz—VAzR 21 (mm) 1,700 1,850 1,950 1,850 1,850
B & T—hEE |71/ VP—O0—"TAR R & 4F 2,100 2,100 2,100 1,550 2,100
£ B #EFE [2.2kWTL—Ff %V—Ff—? ﬂlﬁ-\bg 3F 1,550 1,550 1,550 1,550 2,100
mEh i FET [0.2kWIL—FRFY—RE-% = bj—t 275 (mm) 2F 1,550 1,550 1,550 1,550 2,100
= WTFRE [2.kWIL—FRFY—RE—% 1F 2,100 2,100 2,100 1,900 2,100
T—hEE [0.0kWIL—F[HFT—RE-% B1 1,550 1,550 1,650 1,550 2,100
2.2kW (5.0kVA) () 1,700 2,000 2,300 2,000 2,000
AC200/220V =48 2.4kW (6.0kVA) Evy hE L () 4,900 5,250 5,500 5,250 5,250
T B |50/60Hz - 3.0kW (7.5KkVA) ER—ZFGE Lt (mm) 5,600 5,950 6,200 5,950 5,950
- 3.6KW (9.0kVA) = B oL B:P (i) 2,300 2,400 2,500 2,400 2,400
4.2kW (10.5kVA) # B|E v b EW (mm) [PxE#+400|PxEE+400|Px:&E2k+400|PxE$+400|Px:E%+400
AC100V &8 50/60Hz_|1.0kW (1.0kVA) M A E vy kR S Hp(mm) 1,920 1,920 1,920 1,920 2,470
BIERE Sy FINRILIGEEA R # TR K & S:Ht mk|[ 7,760 7,760 7,760 7,010 8,860
28— 1A E-128 | 4E-17& b EEEEES - Hg (m*| 6,060 6,060 6,060 5,860 7,160
1=y 5E-228 eE—27&a | 7E-32& # 5 5 S:Hk@mkx| 7,980 7,980 7,980 7,780 9,630
8E—-374 BISRHI R S - He (| 6,500 6,500 6,500 6,300 7,600
KETRICED  REBRIEEYERDHGENTEIVNET, A/B(kg) 2,500,/5,000 | 2,750,/5,500 | 3,050./°6,050 | 2,750,/5,500 | 2,750,/5,500
KARICBVARY ZICRHELELTE BBIWEDELIZE W, TERE C./D(ke) 2,500,/5,000 | 2,750,//5,500 | 3,050,/°6,050 | 2,750,/5,500 | 2,750./5,500
SOTHABREDIBEKRENDRTEN00mMEZ RN F T, E/F (ke) ,200/1,300 1,350./1,500 | 1,500./1,700 | 1,350./1,500 | 1,350./1,500
4F [/ 4&4m] (#2) [18~186/18 [ 18~187/18 | 18~204/18 | 18~183/18 | 18~217/18
5 3F ﬂ?ﬁ? Faa) E%’J)g 18~164/18|18~165/18 | 18~180/18 | 18~161/18 | 18~188/18
= 7 2F [/ #84m9] (7)) | 18~142/18|18~143/18|18~155/18 | 18~139/18 | 18~158/18
bot}bl(x}b 41 /%E K M 1F[FEHE /184m] (7) 18/18 18/18 18/18 18/18 18/18
XESEREOT A EBM(M8) DFEICEDET, B1[MEE /igdn] (#2) [18~144/18 [18~145/18[18~158/18|18~143/18|18~172/18
7,900 GEBLEIE : W+300) (500) 5,250 (Ey hES: L) 680 (120)
150 7,600 (v Mg : W) 150 N ZED
- 150 5,950 (R —Z bR : Lt)
200 2,400 [ Al 200 220 480 s
3 RO P) 250082 4 D EIDN
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. —— | :
fffff — P —-— - —
| | 1 Ne N o DNE B
. | e jxﬁm e Sz
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ITHI

LEXEL PUZZLE 51

R LotILIRXIL 51 HiER
WERE |74V —O0—"TAK S M L Mm MH
5 = &7 ([O—>—Fz—VAR 2 (mm) 4,700 5,050 5,300 5,050 5,050
P HTERE [O—5—Fz—VAR 218 (mm) 1,700 1,850 1,950 1,850 1,850
X B T—hEE D —O0—THR 5F 2,100 2,100 2,100 1,550 2,100
x B i ERE (2. KWIL—F(HFT—RE-F Y = 4F 1,550 1,550 1,550 1,550 1,800
mEh L ERE(T [0.2kKWTL—*f Fr—RE-% AIREER 25 () 3F 1,550 1,550 1,550 1,550 1,550
= HTEE [2kWIL—FHF7—RE-% B 2F 1,550 1,550 1,550 1,550 1,550
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